
Problem Set 2 Solution
Problems 11,12, and 13 from
chapter 1 of Van Brum.me/en

Problem 11
-

✗ is the latitude

\
"

d.
•

of New York .

R is the radius
of the Earth

.

r is the radius
of the circle that
is the line of latitude

going around the Earth
at the latitude

,
✗
,
of New York .

r = Roos ✗

C is the circumference of that circle .
C=Zñr = ZITREOSX

F- 23hr56 minutes is the time for New York
to go

the distance C once . The speed is

s =#= Zit cos to .NET?+8s!Ig-hr-- 1268.5 IF
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✗ = known

,given = 43.867°alt:#Five der;¥É
p = known, given = 50 i t
AT = known, given = 8460ft- 4135ft -_ 4325ft
We need Ec

.
Once we have it

,
we addit

to 4135ft , and we have the elevation ofpeakB.
D- = AT Sina

since <CBD = 90 - (d-B), itmust be
that < DCB = x-p .

JB=I¥µ- E- cis simp
put it all together. . . .
Elevation ofpeak B-4135ft +CET
= 4135fttCB-sinp-tbs-fttII-pysinp-trss-fttAI.SI?p-sinp--
4135ft+ = 4470ft
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We bisect the angled .
That gives us two right
triangles . Here is one ofthem:

8=0.260 c ;¥-
☐12

TB=Iz
↳ 1-13=-384

,
too km

A .•.
Put it all together :

t-ZCB-ZABtand-z.cn?-z---tan&z= 2.384,400km - fan 0.260

= 3489km


